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VEHICLE TECHNOLOGY
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Az () v¥H e A 8, 99 3 @ 58T via & I G |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) I F¥ & G YT 1 FHIR 0 G 5T Ford |
Solve all parts of a question consecutively together.
(iii) F9F 5% H 79 78 8 IREY Fiford |
Start each question on fresh page.
(iv) @l areIsn 7 37=R g7 ¥ 1R 7 3730 s w8 |

Only English version is valid in case of difference in both the languages.

1. () T 4 x 49 wiew qrwe yoref & it el & am 3 33 g fafeu |

Write the names and number of different components of power transmission
system of a 4 x 4 vehicle.

(ii) sferm yorreft § TEHEYTEA 9Tea %1 HH faRav |
Write the function of préportioning valve in braking system.

(iii) T Ford g1 TRIYE Wfe 1 9Tfaa 5 STt HTEhT H1 Ieord It |
Mention the factors affecting the power transmitted by a clutch.

(iv) Yo aUT gTE4ise YHR & Jifem Iremi o I =t Fai 6 v @ qumse |

Explain the difference between bevel and hypoid type final drives with the help
of sketches.

(v) o TTS adet T T iR o o S @ 7 39k gfd S YR Sk f i 2l @ 7

Why ring gear is fitted on the fly wheel of an engine ? Why its téeth are spur
type only ? (2x5)
(10f2) P.T.O.
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() BH-FE T THR & Frerwad da 6 a1 1 o gr ansse ud 369 o fafen )

Explain the construction of McPherson strut type suspension system with the
help of sketch and write it’s advantages.

(i) oY e ek o1 iR foe o TS qUn S aTed % HH Hl AHAST |
Draw labelled layout sketch of air power brake and explain the function of brake
valve. (6+6)

() ITEHT R YR % Tehdl sieh Sl TEHT Td HRVUE T GUH HiIT |
Describe the construction and working of floating piston type disc brake.
(i) T e el o @ 9 ey fafem |
Write the advantages and disadvantages of tubeless tyres. (6+6)

() e fgien 6 sfa-fafy & s s o1 |y 5 aui Hifa |
Describe in brief the main steps of cold procedure of tyre retreading.
(i) ST I FUSEH B! FHR & Foral i gorl DT |
Compare diaphragm and coil spring type clutches. (6+6)

TS THTE | Y T THIA & 7 U UGS SHIS hl GO T BRI BT A
guig HifST |

What do you understand by transaxle unit ? Describe the construction and working of
a transaxle unit with the help of sketch. (12)

(i) wrafea aem i afes aEsm |
_ Explain Hotchkiss drive with the help of sketch.
(i) Hifia Reaem felhime 6t wrisone! =i afas auamse |
Explain the working of limited slip differential with the help of sketch. (6+6)

Wt sanfufy & o 7 wwea € 7 ues fafi S /gfa o afonfya $ifve w@ 376
T ! oft T | ;

What do you understand by steering geometry ? Define it’s different angles/distances
and also explain their effects. (12)

() T AR SR H e die % fHa v aufia fm s awa g ¢ afe guis |

How the driver’s seat of a modern car can be adjusted ? Show with the help of
sketches.

(i) foree Tt ot afiera ot 36 Sl ferRae |

Classify piston rings and write their functions.
(i) Torervs s ke & T T ferfle |

Write the desirable properties of cylinder head gasket.
(iv) Teafan srmwa g1 & wg@ wrv fafee |

Write the major causes of bearing failure. (3%4)



